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New T,,, boundaries options A

NOCILIFRIB

- —
Radiation residue calculator settings _—

— |ntegration model

|zotopes to plot 20 -plot

&+ {0DE [ordinary differential equation solver] ISBN: 0716704617 & Tus M

i Zva N2
= Zve N2

f* ALL [Stable & Fadioactive]

{~ BEF45 [Runge-Kutta-Fehlberg ODE slaver)

 only Badioactive

~ Mumerncal Becipes: ODEIMT " only Stable

| " Mumerical Fecipes: STIFF

_ _ — Hailf-life boundaries [zec]
| = Mumercal Recipes: STIFBS "unbound” bel
unbound” below
I T1/2_min = I 1.0e-09 this valle
_ o "ztable" ab
Option Yalle Description E:E‘;‘lt T1/2_max = I 1.0e+20 ; ;iseva?usve
1e-19 < Tmin € Trnax < Te+20
M_lmplant I 100 number of paints : [radiation 100
| D I 100 TS G PR TR ) DI 1o 2 IIlSufgppslycgnfnjm:iruagigﬁr; rates of
AhsErar I 1 00011 abzolute emor tolerance 1e-11 elurninated nuclei to their daughters)
RelError I 1.000e-03 relative ermor bolerance Te-03
- 2 g ] 110 Mumber of none-dimensional I 0
Y _thrshid | 1.000e-10 Minimum yield value distribitions

At each step far first bwo modelz, the code requires ¢ Ok

absl local error 1<= abs [ 1% RelEr + AbsEn [T Make default x Cancel

Try to keep the Decay time after irradiation larger than the T1/2 min boundary

Radiation Rezidues az Funchion of time [OT] Halt-life boundaries [sec)

DT : Decay Time - “unbound" belaw
after imadiation [sec) =| 100 > T142_min = I 1.0e-1 thiz walue
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221U irradiation case : initial settings

L

NOCILIFRIB

-
Radiaticn res i '.'- —

rtegration model lsotopes to plot

{* 0ODE [ordinary differential equation zolver] 1SBM: 0716704617
i~ REF45 [Runge-Kutta-Fehlberg ODE slover)
i~ Mumerical Recipes: ODEINT

o ALL [Stable & Radioactive)

" only Radinactive
= anly Stable

— Mode to implant

{~ Mumerical Recipes: STIFF
= Mumerical Recipes: STIFES

Half-lfe boundaries [zec)

"unbound" belov this value

T‘l.f2_rnin=| 1.0e-03

"stable" above this value

T1/2_max = 1.0e+15

| Te-19< Tmin < Tmax < 1e+20

Eld = Mumber of atomz; M af Dl = Mumber of Different |zotopes;
Final Tirme [FT] = Irradiation Time [IT] + Decay Time [DT]

" 1. One nucleus to implant. Chose manually here

Drefault
value

M_lmplant 1000 number of points ; Iradiation 100
MN_Decay I 100 rumber of points . DECAY 100

Option Walue Dezcription

o file

;I Refresh | M of igotopes =

" 2 List of izotopes to implant from file IEE | M of izotopes = 0

" 3. Select detector to obtain the list of isotopes stopped in FFP_FPFACO

: - : ! Number of
1. Chose fragment to implant Irradiation (Implantation) AbsEmar I 1.000e+01 abzolute enor tolerance Te-11 one-d@;r;nzi[_onil o
£ Element £ IT : Iradiation Time [sec] = IR RelEmar I 1.000e-03 relative emar tolerance Te3 distiibutions
|221 I L |E|2 /"' -Ebcl:fdﬂf ‘_thrshid I 1.000e-08 Minimum vield value 1e-10 [~ Make defaul
uclides

I Unknown

£aCH FLep ror frst o models, the code requires
abzl local error 1<= abz [ 1% RelEr + AbsEn

o Ok

B Fiadiation Fesidues as Function of time [DT]—— x Cancel

DT : Decay Time
after iradiation [zec] = I 0

M of DI G time [FT) = 10

T = 1.30e-0B sec
142 Implantation Fate = I Te+10 pps
Yield of thiz nucleus @ [radiation time [IT] = I 1]
Tield of thiz nucleus @ Final time FT) = I 1]

Tatal *ield & time [FT]=| Te+3

A FEl Z H Fezidue Atom= Tl 2. =ec
h_m:ﬂesiduesasfundionoftime CAUTION View Results (Text) 201Fb oz 119 2 120=—10 3 3C59=+04
¢  Calculate T — ' W : : 205Fb 82 123 1.029e-08 5. 456e+14
Ja 1D+ Activity as function of time X Cut | P Lk 205B1 a3 122 2. 405=-02 1.323=+06
L~ 205Po B4 121 1.923=-01 B 264=+03
& Options Jo 20 : Final Residues (@ TF) AREA Elapsed time is 00:00:01.73 209Pao B4 125 1 647=+03 3 217=+09
or1.73 sec 2094t 8o 124 4 945=+05 1.948=+04
209Fn BE 123 8. 402=+04 1.710=+03
213Fn BE 127 1.138=+03 1.950e-02
213Fr a7 126 4 995=+083 3 482e+01

i 4 977e+02

217Th an 127 1.782e+06

221Pa 91 130 4 255=+04 .

1 1.773=+04 . 300e-06
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. U irradiation case : T, = 1e-8S L EEE
NOCLIFRIB =

[ Half"fe bDﬂ.-II"IdEIE$ [36':] -] — Irradiation [Implartation)

“"unbound" below thiz value IT : Irradiation Timfa [sec]=| 0.1
t of DI @tll‘ne[lT]=| 16

T1/2_min= | 1.0e-08

— Radiation Residues as Funchion of time [OT]——
DT : Decay Time
after iradiation [zec] = I n
toof DI 5 time [FT]=| 13
Total rield & time [FT] = I 1e+9

Radioactive decay residues Activity Elapsed time iz 00:00:06.07
Initial isctope: 221U Initial isotope: 221U or B.07 zec
Imadiation Time (IT) = 1.006-01 sec; Decay Time (DT) = 1.00e-07 sec; Im.Rate = 1.00e+10 pps; Plot Allisolopes Imadiation Time (IT) = 1.00e-D1 sec; Decay Time (DT) = 1.006-07 sec; Irr.Rete = 1.00e+10 pps; Plot All isotopes
Model="0DE", Nimpian=1000, Ngegig=100, Abs Err=1.0e+01, Rel Err=1.0e-03, Threshold=10e-08, Tyj000nds =1 0e-08, 1.0e+15 Model="0DE", Nygpjan=1000, Nregig=100, Abs Err=1.0e+01, Rel Err=1.0e-03, Threshold=10e-08, Ty;;00unds =1 0e-08,1 0e+15
) 21U . 3 i
1.8e+04 e
N e s
2F
A i
217A¢ ] i
5.0e+02 E 5 L
o
c
. 88 5 !
=
N ®
: 2
S 2
3 =
= "]
1. 1e+03 b B
- P
<
gt | 295Po 200pg
71.9e-07 1.6e+03 2t
i
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@ 205pp [
1.0e-08 5L L
1e-2 fe-1
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152 e Time [sec] esent

28-10-2016 14:4251
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221U irradiation case : T, = 1e-5s

L_.'_J'_I.v

NOCILIFRIB

Protons (Z)

Half-lfe boundaries [sec)

"unbound” below this value
T1/2_min= | 1.0e05

Radioactive decay residues

Initial isctope:
Iradiation Time (IT) = 1.00e-01 sec; Decay Time (DT) = 1.00e-07 sec: Irr.Rate = 1.00e+10 pps;

221

Plot All isotopes

Nodel="0DE", Nimpian=1000, Neegig=100, Abs Err=1.0e+01, Rel Err=1.0e-03, Threshold=1.0e-08, Tyb0unds =1 0-05,1.0e+15

89.5
885
875

86.5

855

845
205pg

71.9e-07
835

2.4e-02
825

205pph
1.0e-08

209po
1.6e+03

213Rn
71.1e+03

81'1520.5 121.5 1225

78-10-2016 14:43:31

LISE++

Nonamel

1235 1245
Neutrons (N)

125.5

126.5

4e+08
4e+07

3e+06
Jet08

Activity [disintegration per sec]

1e+10

— Irradiation [Implantation)

IT : Iradiation Time [zec] = 0o
M oof D (30 time [IT]=| 16

— Radiation Residues a: Function of time [OT]———
DT : Decay Time
after iradiation [sec) = I 0
M af DI @time[FT]=| 10
Taotalield @ time [FT) = I 1e+3

Activity
Initial isotope: 221U
Iradiation Time (IT) = 1.00e-01 sec; Decay Time (DT) = 1.006-07 SEC, 111.inens — 1.wve- 1v ppa, 1w runawupsa
Mode!="0DE", Nimpjan=1000, Npesig=100, Abs.Err=10e+01, Rel. Err=1.0e-03, Threshold=1.0e-08, Tyz00unds =1 Og-05,1.0e+15

Elapzed time iz D0:00:01. 73
or 1.73 sec

e!

1e+9

1e+8

1e+7

1e+6

28-10-2018 14:45:58

LISE+

Noname

1e-2 1e-1
Time [sec] Fa
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. U irradiationcase : T .. =1e-2s XA X TR
NSCILIFRIB -

— Irradiation [Implantation]

HJ'"E buundalﬂs [SEE] ] IT : Irradiation Time [zec] =| 01
"unbound" below this value Nool @metn -

— Radiation Regidues az Function of time [OT]——

T1/2_min = 1.0e-02 st
after irr:adiggoaﬁ [slgnce] = ID—
NofDl @tmeFT)=[ 8§

TotalVield @time FT)=| 1e+3

Elapged time iz 00:00:00.57

Activity or .57 sec
Initial isotope: 221U
Iradiation Time (IT) = 1.00e-01 sec; Decay Time (DT) = 1.00e-07 sec; Irr.Rate = 1.00e+10 pps:  Plot All isctopes
Model="0DE", Nimpjan=1000, Nresig=100, Abs Err=1.0e+01, Rel. Err=1.0e-03, Threshold=1.0e-08, Ty%0unds =1 0e-02, 1.0e+15

Radioactive decay residues
Initial isotope: 221U
Irradiation Time (IT) = 1.00e-01 sec; Decay Time (DT) = 1.00e-07 sec; Irr.Rate = 1.00e+10 pps;  Plot All isctopes
Model="0DE", Nimptan=1000, Nregig=100, Abs.Err=1.0e+01, Rel.Err=1.0e-03, Threshoid=1.0e-08, Ty;zb0unds =1.0e-02,1.0e+15

g b j
24002 i L
- - 1.5e7
le+7 3 E
875 i
1e+6 | E
8.5 &
7]
213Rn R - 5
1.1e+03 g i ]
g 85.5 g
-
@ o texd | 5
5 = E 1
- c
g 46408 w
o 845 4e+(7 E [
3e+06 +3 E e
205pg 209po et g ;
[ 304 | 2
1.9e-07 1.6e+03 Q [
835 <«
1e2 | E
2. 4de-

825 te+1 | 3
205pp i ]
1.0e-08 ;

81.5, = Te? Te-1

05 1215 1225 1235 1245 1255 126.5 e e
28-10-2018 14:44:13 u f,ISEM, " el Time [sec] 1211:?;':;2

e Neutrons (N)
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Half-Ife boundaries [sec)
"unbound" below this value

Activity [disintegration per sec]

T1/2_min= | 1.0e-02

— Inadiation [Implantation]

IT : Imadiation Time [zec] =| 01
Mot DI & tirne [IT]=| 15

— Radiation Residues as Function of time [DT]———
DT : Decay Time
after iradiation [zec] = I 100
M of DI @time[FT]:I 1
Tatal *rield & time [FT] = I 1e+3

Elapsed time is 00:00:00.81
or .81 zec

Activity
Initial isotope- 221U

Irradiation Time (IT) = 1.00e-01 sec; Decay Time (DT) = 1.00e+02 sec; Irr.Rate = 1.00e+10 pps; Plot Al isotopes

Model="0DE", Nimpian=1000, Nresig=100, Abs.Err=1.0e+01, Rel Err=1.0e-04, Threshold=1.0e-10, T;500unds =1 0e-02,1.0e+15

1e+12

le+11

1e+10

1e+9

1e+8

1.5e7

le+7

1e+6

1e+5

le+4

To2 ToT

*@ATENSCL.MSU 10/31/16

1e+0 le+1 1e+2
Time [sec]

Activity [disintegration per sec]

31-10-2016

LISE+

221U irradiation case : Decay time = 100s, T . =1e-2 & 1e-85 T

— Irradiation [Implantation]

IT : Inadiation Time [zec] = oo

W of Dl (& time [IT]=| 15

— Radiation Rezidues az Function of time [DT]——
OT : Decay Time
after inadiation [zec) = I 100,
NofDl @time (FT)=[ 11
Totalield &2 time [FT) =| 1e+9

Elapzed time iz 00:00:09.09
or 309 sec

MICHIGAN STATE
R Y

SITY

— Half-Ife boundaries [sec)

"unbound" below this value
T1/2_min= | 1.0e-08

Activity
Initial isotope: 221U

Irradiation Time (IT) = 1.00e-01 sec; Decay Time (DT) = 1.00e+02 sec: Irr Rate = 1.00e+10 pps:  Plot All isotopes

Modei="0DE", Nimpiant=1000, Nresig=1000, Abs Err=1.0e+01, Rel.Err=1.0e-04, Threshold=1.0e-10, Ty;20unds =1.0e-08,1.0e+15

1e+11

1e+10

1e+9

1e+8

Te+7

1e+6

1e+h

1e-2
11:38:55
Noname|

1e-1 1e+0 le+1 le+2 le+l
Time [sec] 7
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U Irradiation case : summary LI

@ Final Time

T1/2 Deca Elapsed

/ . ¥ Number of Total o ps.
min time, . . Activity calulation
isotopes yield ]
boundary S time
1E-08 o 13 1E+09 3.0E+11 6.07
1E-05 o 10 1E+09 2.0E+H09 1.73
1E-02 o 9 1E+09 1.5E+H07 0.57
@1 &10sec

1E-08 100 11 1E+09 1.5EH07 9.09
1E-02 100 11 1E+09 1.5E+07 0.81

OT@NSCL.MSU 10/31/16 8
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MICHIGAN STATE

238U @ Beam Dump (Abrasion-Fission + Projectile fragmentation)

Protons (Z)

[0 1 S Jaes

[3] Total: All reactions (pps)

238U (154.3 MeV/u) + Li (0.3 g/cm2); Settings on 1325n; Config: M

dp/p=100.00%

without charge states
sum of reactions

Just after reaction

(Abrasion-Fission + PF)

5=z

0

27-10-201€ 20:20:56

L 15 E++ [G'\BeamDump'AF_238U_Li.Ipp]

80
Neutrons (N)
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Onl%s Irradiation time = 1le-4s, No decay time, T .. = 1e-10'S

Radiation residue calcula

= designation ——rc i = g‘
- Radioactive decay resid —
s 3 el ield = Mumber af atoms; M of DI = Mumber of Different [zotopes; @ e ecal N ue-_ ol . ..- ‘ “ “- .L -
Final T FT] = Irradiation Ti IT]+ D T DT
1. One nucleus ta implant. Chose manually hers o= ) e e W () ey W ) Radioactiv—e deca‘T residues
v
o B " " i = B . - .
0 2 Lt s (o (il & Bz Bt | otistopes - 2647 Implanted isotopes file - "G:\BeamDump\238U_all2.radlist" (2647 different isotopes)
3 Select datector to obtain the list of izotopes stopped i |FR_PPALD | P | Nofisctopes =0 Irradiation Time (IT) = 1.00e-04 sec; Decay Time (DT) = 1.00e-06 sec;  Plot All isotopes
Model="ODE", Nipian=100, Ngsig=100, Abs. Err=1.0e-05, Rel. Err=1.06-02, Threshold=1.0e-05, Tybounds =1.0e-10,1.0e+10
Total lnadiation Rate————— Iiradiation [Implantation) T T T T 0
ot ooaton IT : Inadiation Time [sec]=|  0.0001 nunas
Interrupt calculations : Iradiation Time [sec] = . E = L]
Rate= | 7067e+13  pps .
= N of DI & time (IT] =| 2598 i E= .
[:AUTI 0 N -~ Fadiation R ezidues az Function of time [DT]——— 85 S . E ot &
DT : Decay Time Bor e
mlnﬂuu after iradiation [sec) = I 0 . S OFEE
“% AREA 4 NofDl @ tme (FT)= [ 2581 i o
Total Yield @ tims (FT]= | 7.06e+d 75 iy =,
N o ! et
hl 1D : Residues as function of time | View Resuits (Text) | . H o "
@’ Calculate . .
hl 1D : Activity as function of time ¥ ot I 2 Lo I 65 . e
—_— 1 " L)
@ Options I hl’ 2D : Final Residues (@ TF) | Elapsed time iz 00:02:30 96 B0 "
— or 15096 sec . -
- 55 5 1
Radiation residue calculator settings - "* 0
c
— Integration model —lzaotopes ta plot g 45
I .
& {0DE [ordinary differential equation solver] ISBN: 0715704517 & ALL (Stable & Radioactive) I E 5e+09
e+08
~ RKF45 (Rungs-Kutta-Fehlberg ODE slover) i~ only Radioactive . §E+g;
" Mumerical Fecipes: ODEINT  anly Stable I 35 . - 9e+06
= Mumerical Fecipes: STIFF " \ a2
—Half-fe boundaries [sec]——— o o
€ Mumerical Recipes: STIFBS ) ot el
“unbound" below this value 25 . H
T142_min = I 1.0e-10 . .
Option Yalue Description 22{32" "stable" above this value - - E
T1/2_max = I 1.0e+10 S
15 t - .
M_Implant I 100 number of points : |radiation 100 1e-19 < T142_min _ a9 Lt
. < T142_max < 1e+20 " o
N_Decay I 100 number of points : DECAY 100 ‘ g
AbsE I - abzolute emor tolerance 1e-11 TIOTTEeT o u H
s 1.000=-05 one-dimensianal 100 ] N
RelEmrar I 1.000e-02 relative eror talerance 1e-03 distributions .
Ythshid [ 1000505 Minium vield value 1e0 I Make defaul 0 20 40 60 80 100 120 140
At each step for first bwo models, the code requires LISE+ | Neutrons ‘N}
absl local eror 1 <= abs 1Y 1 RelEmr + AbsErr o Ok | X Cancel |

No stiffness!




Irradiation time = 1e+3, No decay time, T .. = 1e-2's

- - designation
— Mode ta implant Yield; Nr_rrn_ber FII'?][U-TS' i Pivl of _I[_)I = P[#Tbebuf Diff_t[a_ranl[l[s)?rtfpes, Radioactiv’e decav’ residues
1. One nucleus to implant. Chose manually here meme - et e T e B ny . oA o :
. Implanted isctopes file - "G:\BeamDump\238U_all2 radlist" (2647 different isotopes)
i £ msesa | Wolie 26 S Irradiation Time (IT) = 1.00e+03 sec; Decay Time (DT) = 1.00e-06 sec; Plot Allisotopes
. . - '
3. Select detector to abtain the list of isatopes stapped in IFF’_F’PAED ~| Refresh | N ofisotopes =0 Model="0DE", N\mp\am:100; Ngegig=100, Abs. Err=1.0e+01, Rel. Err=1.0e-02, Threshold=1.0e+02, T_HZDOUI'IUS =1.0e-02,1.0e+15
~ i ] ] ’ ' H Neu=854
T otal lnadidtion Fate . | #f~ Imadiation [Imp\antation]ﬁ z ey Pro=73 5
Press "Escape to oo o T0=£J.
intermupt calculations IT : Iradiation Time [sec] = 1000 BoOo |
Fate = 7.035e+13  pps : . . "
= N of DI @time (IT) <[ 2304 85 | e LEmpamEmn: saEiimnnnn
. ENEEN - s :
N | L1} - .
CA TIUN — Radiation Residues az Function of time [DT]— I o ==.. ameact B Lo
DT : Decay Time BT pim T
RADIATION after imadiation (sec) =| 1] e ] T
“% AREA 4* N of DI @time [FT) = 2268 o 75t e EE
Total Yield & time [FT] =| T.0Z2e+1E J oG - T
> 4 i as )
hl 1D : Residues as function of time View Results (Texd) _0800 Ba o
Calculate 65 | Saoc Boa
hl 1D - Activity as function of time ki i a [ LR
& Options {20 - Findl Resices (@ TF) | : R .
of 4.46 sec 500 aoe
S
r — - = . —
Radiation residue calculator settings ————— g
— Integration madel —|zotopes ta plat % 45 A
E,
' ODE [ordinary differential equation sokver] 1SBM: 0716704617 & ALL (Stable & Radioactive) E Ee::‘lf
e+15
i REF45 [Runge-Kutta-Fehlberg ODE slover) " anly Radioactive Be+14
" Numerical Recipes: ODEINT ™ only Stable 3/ T . 9e+13
€ Mumerical Recipes: STIFF r o 1
. . —Half-Ife boundaries [sec]——— .- u
 Mumernical Recipes: STIFES . et (0gooo
“unbound” below this value EECERE
T/2_min= [ 1.0s02 25t RAc". i
Option Walue Description D elfault "stable" above this value . : o 5o
vale T1/2_max = | 1.0e+15 .
M_Implant I 100 number of points : lradiation 100 1819 < T1/2_min _ 15 . . . .
. < T1/2_maw < Te+20 0 aet
M_Decay I 100 rumnber of points : DECAY 100 ‘ 07
AbsE I absalute emar tolerance 1e-11 . ae il
s 1.000=-01 one-dimensional 100
RelEmor I 1.000e-02 relative error tolerance 1e-03 distributions 5. o a "
_thrshid I 1.000e+02 Minimum yield walue 1e-10 I Make defaul B
At each step for first bwo models, the code requires 0 20 40 60 80 100 120 140
absf lacal error 1<= abs [ 1* RelEr + AbsErm X Cancel Neutrons (N]

No stiffness!
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Irradiation time = 1e+3, Decay time = 1le+4, T . = 1e-1S

= designation: . . .
T beER et ‘rigld = Nurnber of atoms; M of DI = Mumber of Different | sotopes; RﬂleaCtlve decav reSldlleS
. Final Time [FT] = Inadiation Time [IT] + Decay Time [DT] . " M g o :
1. One nucleus to implart. Chase manualy here = Implanted isctopes file : "G \BeamDump\238U_al2 radlist” (2647 different isotopes)
2 List of izatopes to implant from file 5@ "238U_all2 radiist" | M of izotopes = 2647 Irradiation Time (IT) =1.00e+03 SEC; Decay Time (DT) =1.00e+04 SE.'C; Plot All iSDtDpes
= " — = = = = bounds =
T ————— T [T — Model="0DE", Nigyen=100, Npegig=100, Abs Em=1.0e+01, Rel Err=1 0e-02, Threshold=1.0g+02, Typbounds =1 0g-01,1.0e+15
i i i v ’ Neu=93.8
~ =
e e — radiation [Implantation) " . Pro=518
Press "Ezcape' to nen
interupt calculations IT : Inadiation Time [sec]= 1000 - . e
Rate = [ 7.0352+13 85 -zsaml
= GiEN NofDl @tme(T]=] 2304 e E::“ canai it
— . T . e
ENEEEE
CAUTI ON Fadiation Fle;:ue[s) as Fu:.ction aof time [DT]—— : - : HH o
D Uecay hime | . 1 1}
RADIATION after iradiation [sec) =| 10000 - 75 s oeanach
45 AREA 4 NafDl @time FT)=[ 1111 elammRRMRT Ll
Tatal Yield @ time [FT] = ?.nzensJ‘ opoiia :
u 1D : Residues as function of time | View Results (Text) | 65 . . i
£ Calculate [ i
h 10 : Activity as function of time i i - . "
&8, Optiors | 1-_1 2D : Firial Residues (@ TF) | Elapsed time is 00:00:40.77 - 55 4
or 4077 sec N
— e — -
F — w
Radiation residue calculator settings . e ——— g
_ & 45 ]
— Integration model — |zotopes to plot E 5e+16
o Ge+15
& {0DE [ordinary differential equation solver] |SEN: 071670451 7 & ALL [Stable & Radioactive) Te+1d
" RKF45 [Runge-Kutta-Fehiberg ODE slaver] ® el Bedlomsiive 35 . 9e+13
1e+13
= MWumerical Recipes; ODEINT = only Stable J _
" Mumerical Recipes: STIFF i ._
’ — Half-fe: boundaries [zec) 25 . ]
= Mumerical Fecipes: STIFES .
"unbound" below this value
T1/2_min = I 1.0e-01 . .
Optian Value Description Delfault “stable" above this value 15 1
walue
T1/2_max = I 1.0e+15
M_Implant I 100 number of points : |madiation 100 ‘ Te19 < T142_min _
< T1/2_maw < 1e+20
N_Decay I 100 mumber of points : DECAY 100 \ = 5 |
AbsEnor I absalute emar talerance 1e-1 Nurnber  of
el ane-dmersional | 100 0 20 40 60 80 100 120 140
FielErmar I 1.000e-02 relative emor tolerance le-03 distributions 37402018 201552
- LloE e - Neutrons (N)
_thrshid I 1.000e+02 Mirirnurm wield valug Te-10 ™ Make defaul
At each step for first bwo models, the code requires
absl local emor 1= abs [ 1* RelErm + AbsEn ' Ok X Cancsl |

No stiffness!




